
R0015305A Install Wiring loom for Rotary Ring

Installation of wiring loom and captivating spindle bases

Introduction
Tools Required

Standard hex key set

Ball pein hammer

6mm drift/punch

Drill driver

6mm hex drill attachment

Parts Required

D00000291 spindle plate x 8

M0000025 Ident numbers x 1

D0007703 r stop pin x 1

D0007990 cylinder anchor x 1

D0007777 Trunking backplate x 2

Hard 3 hour(s) Dif1culty  Duration

Contents

Introduction

Step 1 - Quality

Step 2 - Quality Check

Step 3 - Start Wiring loom installation

Step 4 - Fit spindle plate 6

Step 5 - Fit Spindle plate 5

Step 6 - Fit Spindle plate 4

Step 7 - Fit Spindle plate 3

Step 8 - Fit Spindle plate 2

Step 9 - Fit Spindle plate 1

Step 10 - Fit Spindle plate 8

Step 11 - Fit Spindle plate 7

Step 12 - Fit dowels to spindle plates

Step 13 - Add 1nal fasteners

Step 14 - Add anti drift marks

Step 15 - Prepare back plates

Step 16 - Fit back plate 1

Step 17 - Fit back plate 2

Comments

Page 1 / 23



Step 1 - Quality
All bolts to have Loctite 243 adhesive applied unless otherwise

stated

All bolts to be pen marked once adhesive applied and correct

tension added

Step 2 - Quality Check
Check D0000291 spindle base has M4 hole tapped all the way

through the plate. Rework if not

Step 3 - Start Wiring loom installation
1 Segregate cables and 6mm blue pipe as shown

2 Use pre made cable identi1ed as 6 and 7 and lay between 2 points shown

Page 2 / 23

https://stuga.dokit.app/wiki/Fichier:R0015086_Assemble_Pneumatics_on_to_electrical_cabinet_loctite_243.png
https://stuga.dokit.app/wiki/Fichier:R0015305_Install_Wiring_loom_for_Rotary_Ring_Screenshot_2024-09-24_161802.png


Page 3 / 23

https://stuga.dokit.app/images/thumb/6/65/R0015305_Install_Wiring_loom_for_Rotary_Ring_Screenshot_2024-09-24_161932.png/ia-3c1663c9b0d30135ce4426611d943d15-1000px-R0015305_Install_Wiring_loom_for_Rotary_Ring_Screenshot_2024-09-24_161932.png.png
https://stuga.dokit.app/images/thumb/1/1e/R0015305_Install_Wiring_loom_for_Rotary_Ring_Screenshot_2024-09-24_162052.png/ia-098e4bd83d31ed1142a2514e5e031859-1000px-R0015305_Install_Wiring_loom_for_Rotary_Ring_Screenshot_2024-09-24_162052.png.png


Page 4 / 23

https://stuga.dokit.app/images/thumb/4/46/R0015305_Install_Wiring_loom_for_Rotary_Ring_Screenshot_2024-09-24_162305.png/ia-67e9a654fa7678ca9541ed102bfa7268-1000px-R0015305_Install_Wiring_loom_for_Rotary_Ring_Screenshot_2024-09-24_162305.png.png


Step 4 - Fit spindle plate 6
1 Fit D0000291 spindle plate and lightly secure with 2 off M8 x 25

socket caps in opposing corners

2 Fit M0000025 number ident (number 6)

Step 5 - Fit Spindle plate 5
1 Retrieve pre marked ethercat cable marked SP5-SP6

2 Retrieve pre marked power cable marked 5-6

3 Lay both cables into chamber to the left of previous 1tted plate

Ensure SP5 and 5 exit to left

Ensure SP6 and 6 exit to the right

4 Fit D0000291 spindle plate and lightly secure with 2 off M8 x 25 socket caps

5 Fit M0000025 ident number to spindle plate (number 5)

Page 5 / 23

https://stuga.dokit.app/images/thumb/3/38/R0015305_Install_Wiring_loom_for_Rotary_Ring_Screenshot_2024-09-24_162548.png/ia-297b20c67f181f3bd2f640c7934377ff-1000px-R0015305_Install_Wiring_loom_for_Rotary_Ring_Screenshot_2024-09-24_162548.png.png
https://stuga.dokit.app/images/thumb/9/93/R0015305_Install_Wiring_loom_for_Rotary_Ring_Screenshot_2024-09-24_163617.png/ia-eaab89a2463548cb39529e07257ffec2-1000px-R0015305_Install_Wiring_loom_for_Rotary_Ring_Screenshot_2024-09-24_163617.png.png
https://stuga.dokit.app/images/thumb/3/3e/R0015305_Install_Wiring_loom_for_Rotary_Ring_Screenshot_2024-09-24_163623.png/ia-74b74074aab5f0496f5ddf1c26f7390f-1000px-R0015305_Install_Wiring_loom_for_Rotary_Ring_Screenshot_2024-09-24_163623.png.png


Step 6 - Fit Spindle plate 4
1 Retrieve pre marked ethercat cable marked SP4-SP5

2 Retrieve pre marked power cable marked 4-5

3 Lay both cables into chamber to the left of previous 1tted plate

Ensure SP4 and 4 exit to left

Ensure SP5 and 5 exit to the right

4 Fit D0000291 spindle plate and lightly secure with 2 off M8 x 25 socket caps

5 Fit M0000025 ident number to spindle plate (number 4)

Page 6 / 23

https://stuga.dokit.app/images/thumb/4/4f/R0015305_Install_Wiring_loom_for_Rotary_Ring_Screenshot_2024-09-24_163734.png/ia-f6be64d8cd00e875905fc142ffa011e9-1000px-R0015305_Install_Wiring_loom_for_Rotary_Ring_Screenshot_2024-09-24_163734.png.png


Page 7 / 23

https://stuga.dokit.app/images/thumb/7/74/R0015305_Install_Wiring_loom_for_Rotary_Ring_Screenshot_2024-09-24_164354.png/ia-59a4d273eaf3b570ef002f70c35feeb6-1000px-R0015305_Install_Wiring_loom_for_Rotary_Ring_Screenshot_2024-09-24_164354.png.png
https://stuga.dokit.app/images/thumb/a/ad/R0015305_Install_Wiring_loom_for_Rotary_Ring_Screenshot_2024-09-24_164437.png/ia-0e9fd1668b2d5a69d8ef2f432ebd6e5a-1000px-R0015305_Install_Wiring_loom_for_Rotary_Ring_Screenshot_2024-09-24_164437.png.png


Page 8 / 23

https://stuga.dokit.app/images/thumb/7/7b/R0015305_Install_Wiring_loom_for_Rotary_Ring_Screenshot_2024-09-24_164446.png/ia-83b721b798644b5287b4efa26a996283-1000px-R0015305_Install_Wiring_loom_for_Rotary_Ring_Screenshot_2024-09-24_164446.png.png


Step 7 - Fit Spindle plate 3
1 Retrieve pre marked ethercat cable marked SP3-SP4

2 Retrieve pre marked power cable marked 3-4

3 Lay both cables into chamber to the left of previous 1tted plate

Ensure SP3 and 3 exit to left

Ensure SP4 and 4 exit to the right

4 Fit D0000291 spindle plate and lightly secure with 2 off M8 x 25

socket caps

5 Fit M0000025 ident number to spindle plate (number 3)

Step 8 - Fit Spindle plate 2
1 Retrieve pre marked ethercat cable marked SP2-SP3

2 Retrieve pre marked power cable marked 2-3

3 Lay both cables into chamber to the left of previous 1tted plate

Ensure SP2 and 2 exit to left

Ensure SP3 and 3 exit to the right

4 Fit D0000291 spindle plate and lightly secure with 2 off M8 x 25 socket caps

5 Fit M0000025 ident number to spindle plate (number 2)

Page 9 / 23

https://stuga.dokit.app/images/thumb/6/6d/R0015305_Install_Wiring_loom_for_Rotary_Ring_Screenshot_2024-09-24_165709.png/ia-24896ecc30c7b0ea83d1b9f170321a5d-1000px-R0015305_Install_Wiring_loom_for_Rotary_Ring_Screenshot_2024-09-24_165709.png.png
https://stuga.dokit.app/images/thumb/1/17/R0015305_Install_Wiring_loom_for_Rotary_Ring_Screenshot_2024-09-24_170107.png/ia-537bc483a4c70ae0a6310fb4ef1cfd86-1000px-R0015305_Install_Wiring_loom_for_Rotary_Ring_Screenshot_2024-09-24_170107.png.png
https://stuga.dokit.app/images/thumb/8/8d/R0015305_Install_Wiring_loom_for_Rotary_Ring_Screenshot_2024-09-24_170113.png/ia-a66d060420357e4e78252c03118ea651-1000px-R0015305_Install_Wiring_loom_for_Rotary_Ring_Screenshot_2024-09-24_170113.png.png


Step 9 - Fit Spindle plate 1
1 Retrieve pre marked ethercat cable marked SP1-SP2

2 Retrieve pre marked power cable marked 1-2

3 Lay both cables into chamber to the left of previous 1tted plate

Ensure SP1 and 1 exit to left

Ensure SP2 and 2 exit to the right

4 Fit D0000291 spindle plate and lightly secure with 2 off M8 x 25 socket caps

5 Fit M0000025 ident number to spindle plate (number 1)

Page 10 / 23

https://stuga.dokit.app/images/thumb/4/41/R0015305_Install_Wiring_loom_for_Rotary_Ring_Screenshot_2024-09-24_170122.png/ia-42f7ce3438fe6a04d1a23612dc0a0db8-1000px-R0015305_Install_Wiring_loom_for_Rotary_Ring_Screenshot_2024-09-24_170122.png.png


Page 11 / 23

https://stuga.dokit.app/images/thumb/c/cf/R0015305_Install_Wiring_loom_for_Rotary_Ring_Screenshot_2024-09-24_170451.png/ia-fd891d7ddfb1ad4b71f8b9e87701a640-1000px-R0015305_Install_Wiring_loom_for_Rotary_Ring_Screenshot_2024-09-24_170451.png.png
https://stuga.dokit.app/images/thumb/b/b5/R0015305_Install_Wiring_loom_for_Rotary_Ring_Screenshot_2024-09-24_170457.png/ia-3d378f848cad262770b9f763f4d74288-1000px-R0015305_Install_Wiring_loom_for_Rotary_Ring_Screenshot_2024-09-24_170457.png.png


Step 10 - Fit Spindle plate 8
1 Retrieve pre marked ethercat cable marked SP8-SP1

2 Retrieve pre marked power cable marked 8-1

3 Lay both cables into chamber to the left of previous 1tted plate

Ensure SP8 and 8 exit to left

Ensure SP1 and 1 exit to the right

4 Fit D0000291 spindle plate and lightly secure with 2 off M8 x 25 socket caps

5 Fit M0000025 ident number to spindle plate (number 8)

Page 12 / 23

https://stuga.dokit.app/images/thumb/7/7a/R0015305_Install_Wiring_loom_for_Rotary_Ring_Screenshot_2024-09-24_170516.png/ia-ed9db927121741b391b77e795ef59725-1000px-R0015305_Install_Wiring_loom_for_Rotary_Ring_Screenshot_2024-09-24_170516.png.png


Page 13 / 23

https://stuga.dokit.app/images/thumb/d/d4/R0015305_Install_Wiring_loom_for_Rotary_Ring_Screenshot_2024-09-24_170823.png/ia-1912477bb9131e7f539ffbe14a990da0-1000px-R0015305_Install_Wiring_loom_for_Rotary_Ring_Screenshot_2024-09-24_170823.png.png
https://stuga.dokit.app/images/thumb/8/8e/R0015305_Install_Wiring_loom_for_Rotary_Ring_Screenshot_2024-09-24_170829.png/ia-33292a3d2372af50bf2e08935c8d6c13-1000px-R0015305_Install_Wiring_loom_for_Rotary_Ring_Screenshot_2024-09-24_170829.png.png
https://stuga.dokit.app/images/thumb/5/54/R0015305_Install_Wiring_loom_for_Rotary_Ring_Screenshot_2024-09-24_170837.png/ia-f959cd01b5440ab2e68c9c1a520c6d25-1000px-R0015305_Install_Wiring_loom_for_Rotary_Ring_Screenshot_2024-09-24_170837.png.png


Step 11 - Fit Spindle plate 7
1 Retrieve pre marked ethercat cable marked SP7-SP8

2 Retrieve pre marked power cable marked 7-8

3 Lay both cables into chamber to the left of previous 1tted plate

Ensure SP7 and 7 exit to left

Ensure SP8 and 8 exit to the right

4 Fit D0000291 spindle plate and lightly secure with 2 off M8 x 25 socket caps

5 Fit M0000025 ident number to spindle plate (number 7)

Page 14 / 23

https://stuga.dokit.app/images/thumb/9/9d/R0015305_Install_Wiring_loom_for_Rotary_Ring_Screenshot_2024-09-24_171233.png/ia-bb842a689adacf295776eaf2aa0a6ea0-1000px-R0015305_Install_Wiring_loom_for_Rotary_Ring_Screenshot_2024-09-24_171233.png.png
https://stuga.dokit.app/images/thumb/d/d7/R0015305_Install_Wiring_loom_for_Rotary_Ring_Screenshot_2024-09-24_171238.png/ia-8daa5a4fd5e8c061992e7dc0241dc319-1000px-R0015305_Install_Wiring_loom_for_Rotary_Ring_Screenshot_2024-09-24_171238.png.png
https://stuga.dokit.app/images/thumb/b/b7/R0015305_Install_Wiring_loom_for_Rotary_Ring_Screenshot_2024-09-24_171245.png/ia-7a2fd4a36431c89b65f6d4b187d1a39f-1000px-R0015305_Install_Wiring_loom_for_Rotary_Ring_Screenshot_2024-09-24_171245.png.png


Step 12 - Fit dowels to spindle
plates
1 Ensure 2 off M8 x 25 sockets are only lightly tensioned. When

1tting dowels spindle plates will need to move slightly to allow

alignment to occur

2 Fit 4 off F0000042 8mm x 24mm dowel to each spindle plate.

Start all 4 dowels into bores indicated , but do not drive <ush

3 Use punch pin to drive dowels to approximately 10mm below

spindle plate face

Step 13 - Add 1nal fasteners
1 Remove 2 off M8 x 25 socket cap 1tted to each spindle plate

2 Fit 6 off M8 x 25 socket cap with adhesive to each spindle plate , do not wind bolt into thread

3 Use drill driver (torque setting 15) with 6mm hex attachment to drive all fasteners home

4 Finalise M8x25 socket caps by hand , and mark as completed

Page 15 / 23

https://stuga.dokit.app/images/thumb/f/ff/R0015305_Install_Wiring_loom_for_Rotary_Ring_Screenshot_2024-09-24_171841.png/ia-f0efafb4b8cf29c2857178d9611fd895-1000px-R0015305_Install_Wiring_loom_for_Rotary_Ring_Screenshot_2024-09-24_171841.png.png
https://stuga.dokit.app/images/thumb/2/20/R0015305_Install_Wiring_loom_for_Rotary_Ring_Screenshot_2024-09-24_172426.png/ia-57b30f79aa3d842ee8f75a6d842e9a61-1000px-R0015305_Install_Wiring_loom_for_Rotary_Ring_Screenshot_2024-09-24_172426.png.png
https://stuga.dokit.app/images/thumb/b/b4/R0015305_Install_Wiring_loom_for_Rotary_Ring_Screenshot_2024-09-24_172543.png/ia-1c18bdf8c6ff235a5b1c5ac205a9008e-1000px-R0015305_Install_Wiring_loom_for_Rotary_Ring_Screenshot_2024-09-24_172543.png.png


Page 16 / 23

https://stuga.dokit.app/images/thumb/d/d5/R0015305_Install_Wiring_loom_for_Rotary_Ring_Screenshot_2024-09-24_172637.png/ia-d773ad27a14ddc2adbcd31d5681b1541-1000px-R0015305_Install_Wiring_loom_for_Rotary_Ring_Screenshot_2024-09-24_172637.png.png
https://stuga.dokit.app/images/thumb/f/f4/R0015305_Install_Wiring_loom_for_Rotary_Ring_Screenshot_2024-09-24_172707.png/ia-8f3c07c4011baecb34012d4b0b9e1e36-1000px-R0015305_Install_Wiring_loom_for_Rotary_Ring_Screenshot_2024-09-24_172707.png.png


Step 14 - Add anti drift marks
Each dowel hole (4 off per spindle plate, 32 in total) require anti drift dots adding to stop dowel slip in operation.

Use a centre punch and hammer, and add centre dot as indicated to slighty swage over top of dowel hole.

Repeat this for all dowel holes on spindle plates

Step 15 - Prepare back plates
Prepare 2 off D0007777 trunking back plates for 1tting

Check that a M5 countsunk bolt 1ts <ush in all 1xing holes.

If M5 countersunk sits above face, rework with Countersink to allow correct 1tment

Page 17 / 23

https://stuga.dokit.app/images/thumb/2/24/R0015305_Install_Wiring_loom_for_Rotary_Ring_Screenshot_2024-09-24_172934_-_Copy.png/ia-b575c88947e76c229001e2cdb5d96f6e-1000px-R0015305_Install_Wiring_loom_for_Rotary_Ring_Screenshot_2024-09-24_172934_-_Copy.png.png
https://stuga.dokit.app/images/thumb/e/ee/R0015305_Install_Wiring_loom_for_Rotary_Ring_Screenshot_2024-09-24_172951_-_Copy.png/ia-2c8ba46f114a94dfa96e4eab7b67e9b0-1000px-R0015305_Install_Wiring_loom_for_Rotary_Ring_Screenshot_2024-09-24_172951_-_Copy.png.png


Step 16 - Fit back plate 1
Trunking back plate 1 is positioned as shown

1 It should be 1tted to the centre line of spindle plate 1 and 5, on the rear . (Picture shows 1tted above for clarity of orientation only )

2 Slide back plate between spindle plates and lower trunking, and orientate as above.

3 Remove access cover to gain access to 1t M5 x 10 countersunk bolts to 1x backplate in position. Rotate ring to access all fastening points . 2

off fastening points will not be accessible at any point and are restricted by the energy chain mounting bracket and chain . These should be

left un1xed at these points

Page 18 / 23

https://stuga.dokit.app/wiki/Fichier:R0015305_Install_Wiring_loom_for_Rotary_Ring_Screenshot_2024-09-24_173311.png
https://stuga.dokit.app/wiki/Fichier:R0015305_Install_Wiring_loom_for_Rotary_Ring_Screenshot_2024-09-24_173316.png


Page 19 / 23

https://stuga.dokit.app/images/thumb/8/84/R0015305_Install_Wiring_loom_for_Rotary_Ring_Screenshot_2024-09-24_173530.png/ia-e35f897e8ba8655a4556d40f2d49aca3-1000px-R0015305_Install_Wiring_loom_for_Rotary_Ring_Screenshot_2024-09-24_173530.png.png
https://stuga.dokit.app/images/thumb/c/cb/R0015305_Install_Wiring_loom_for_Rotary_Ring_Screenshot_2024-09-24_173535.png/ia-a6ff4ed984f5c98612324b33eedac96c-1000px-R0015305_Install_Wiring_loom_for_Rotary_Ring_Screenshot_2024-09-24_173535.png.png
https://stuga.dokit.app/images/thumb/c/c4/R0015305_Install_Wiring_loom_for_Rotary_Ring_Screenshot_2024-09-24_173541.png/ia-92b622bb1e055bf09380283e057a123e-1000px-R0015305_Install_Wiring_loom_for_Rotary_Ring_Screenshot_2024-09-24_173541.png.png


Step 17 - Fit back plate 2
Repeat step 16 steps to 1t backplate 2.

Use pictures for orientation

Page 20 / 23

https://stuga.dokit.app/images/thumb/c/cd/R0015305_Install_Wiring_loom_for_Rotary_Ring_Screenshot_2024-09-24_173548.png/ia-31e795c83383b0474d5d1b3bf0fe5eb7-1000px-R0015305_Install_Wiring_loom_for_Rotary_Ring_Screenshot_2024-09-24_173548.png.png
https://stuga.dokit.app/images/thumb/8/83/R0015305_Install_Wiring_loom_for_Rotary_Ring_Screenshot_2024-09-24_173838.png/ia-c03675afdab2cc18e94ac06fe1ea928c-1000px-R0015305_Install_Wiring_loom_for_Rotary_Ring_Screenshot_2024-09-24_173838.png.png


Page 21 / 23

https://stuga.dokit.app/wiki/Fichier:R0015305_Install_Wiring_loom_for_Rotary_Ring_Screenshot_2024-09-24_174214.png
https://stuga.dokit.app/wiki/Fichier:R0015305_Install_Wiring_loom_for_Rotary_Ring_Screenshot_2024-09-24_174223.png


Page 22 / 23

https://stuga.dokit.app/wiki/Fichier:R0015305_Install_Wiring_loom_for_Rotary_Ring_Screenshot_2024-09-24_174229.png


Page 23 / 23

https://stuga.dokit.app/wiki/Fichier:R0015305_Install_Wiring_loom_for_Rotary_Ring_Screenshot_2024-09-24_174239.png

	R0015305A Install Wiring loom for Rotary Ring
	Contents
	Introduction
	Step 1 - Quality
	Step 2 - Quality Check
	Step 3 - Start Wiring loom installation
	Step 4 - Fit spindle plate 6
	Step 5 - Fit Spindle plate 5
	Step 6 - Fit Spindle plate 4
	Step 7 - Fit Spindle plate 3
	Step 8 - Fit Spindle plate 2
	Step 9 - Fit Spindle plate 1
	Step 10 - Fit Spindle plate 8
	Step 11 - Fit Spindle plate 7
	Step 12 - Fit dowels to spindle plates
	Step 13 - Add final fasteners
	Step 14 - Add anti drift marks
	Step 15 - Prepare back plates
	Step 16 - Fit back plate 1
	Step 17 - Fit back plate 2


